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I Conclusion of discussion of D™ar YvR1
a  Story: elders of Xnn didn’t come to p19, ®TON " threatened them with excommunication
i Then: xnnn "1 was dispatched to ask them why they didn’t come
ii ~ Answer: we ask questions and don’t get answers!
iii Response: “ask me (X1 "1)!” — but couldn’t answer:
1 Question: if the master castrates the slave’s testes, does he go free (they subsequently insulted x1nn ")
2 Answer (from 8701 “): as per Rn»»1 in re: which limbs are liable for n'nn (subset of nyn)
(a) Do 24 oaR YWRA - tips of: [all of these are limbs which are tapered and cannot be fully seen from
(i) 10 fingers
(ii) 10 toes
(iii) 2 ears
(iv) nose
v) xR M)/ o717 (W) (h> "1 — also a man’s)
(b) »17: also castration (vis-a-vis freeing slave)
(i) must mean: testes (penis is already mentioned by n>nan)
(c) xry 1a: also the tongue
(i) note: 211 seems to exclude the tongue
1. challenge: »a71 maintains (in re: nRtN) tongue is “exposed” = nrrn on the tongue is valid
a.  perhaps: when he says 12 he means “lips” (even though they sometimes tip inwards)
b.  rejection: in re: Mm3a 'mn, he explicitly lists a majority of the tongue as a on
2. answer: 171 accepts the tongue — he also includes V1710 (98 — added to original list) and 'Rty 12
only accepts tongue — not V171’0
a.  Note: dispute re: n&rn is whether it should be compared to
i.  nRmv - accessible —v. 1 or
ii. "INV (not needed re: N2V as per v. 2)
iii. source for dispute — how to parse v. 3
iv. 17 nRm and nRTA are connected (= tongue is “exposed”)
V. DN Mpna NN and nRt are connected (> tongue is “discreet”)
3. challenge — 711 required his servant to ablute again when a bone was found between her teeth
a. answer: even though he doesn’t require n’n nX»3, he does require the potential
i.  asper:RVTT A
(d) Note: entire question is subject to dispute of nRin in interpretation of v. 4 (nnna »mn)
(i) nmn v —all apply to 73 as well as testes
(if) »"ax1-only 3
(iii) »ov "1 — 1t two apply to both; #3&4 — only 13
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